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Attempt any Five questions.
All questions carry equai marks.
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Explain with the help of diagrams what would happen to the
production possibility curve when
(a). the technology in the production of one of the goods
improves ?
(6) the supply of productive factors in the economy
increases. 1{H-10-20
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Prove that the price elasticity of demand on a straight line

demand curve varies from zero to infinity. »
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Explain the concept of marginal rate of substitution of
commondity X for commodity Y (MRS”} ? 7
Draw the indifference curve in each of the following
cases.
() When marginal rate of substitution is zero.
(il When marginal rate of substitution is constant.
(ii) When marginal rate of substitution is increasing.
22426
Give the economic interpretation of the slope of
budget line (which is the price-ratio of the two
commodities). 7

ETO.



« 4 4466

() XI5 1 vaxg + g dwea-tgEw= o

(<)

(9)

{a)

(6)

(MRS, ) Tl @M 1 THEA |
frefafean 2 for serdmn @ =1 fa
Hifsd

() T WA WANE # s oy ¥

(i) N9 HHE A o @ fem ¥
@) T W TEME # o gfemm ¥
T @ w T (S A ams B ogw w0
I ¥) W anfdE wEm =R

Expiain the substitution effect and the income sffect of
a price change. 22881
Clearly specify the signs (positive/negative: of the
substitution effect, the income effect and -he total price
effect for a :

(N normal good:



(i} inferior but not a giffen good:

(i) giffen good, 3x3=9
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“The average cost curves of short and long-run are U-shaped
but for different reasons.” F,xpléin. 20
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Explain the equilibrium of a firm in the short-run and long-

run under the condition of perfect competition. 10+10=20

g wRmif ® oRfef § e @ sreeet w

et G W Ref W wEEE

()  Distinguish between marginal physical product. marginal
revenue product and value of marginal product. 3x3—9

()  Show how under the conditions of perfect competition
each facter is paid a reward equal to the value of its
marginal product. n
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gxpiain the theory of comparative advantage of
international trade. 8
Distinguish between absolute and comparative cost
differences. 5
Is protectionism a good policy ? Substantiate your
answet, 7
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